Hul Prifem BEATING_ (6:6.) exva )

X"+x = cs(lost) , X9 =0, Xl0)=0

- = — 0 = ~A Wotw _ &l .|
Note Go=t ,w=L0S = 21720, QoW="2, ) ot = 4

e selnis fprvporhom\ to a difference of cos ihes. |
Use the wdentity wsA— s B = — 285 &8 ) 5“”('—‘%9)

o re-ex?mss the son as a Pmduc\-of sines,
“The beat penod is Ther = 20, and the enveiope of the son (s

||
gven by the 2 curves: X = & Amplitude S (\""—"—}"\’c)
N\
neve “Amlejmo\e“ is the wefficient of the produckof simes,
Plot the coln and envelope cunes ﬁ)r one beat pened , showvig ‘wo
bedts of the son oscillation.
Use \"")e Map\e *em?\cd-e P“')V\dcd OYHIY)'e ‘o mqke 'Hq\s easier



